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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

Warning: col

[’ FVOPH’ ]

is missing

—@— PHO

10

15

20

25




Trend plot forP3 0

6.0 4
1
1
5.9 i
1
1
5.0 1
1
1
4.5 4 I

ol : minFVI

. : minFVO
1
3.5_ 1
1
i 1
3.0 |
1
2.5 I
Warning: col ['minFVllraw’ , 'minFVOraw’ ] is missing :
2.0 !
1

1 1 1 1 1 1 1 1
.41 @ ® ETcAlraw
° ——  ETcAf
.24 —o— ETcA

b Warning: col [’ﬁicAZraw', "ETcA2'] is missing

0.2 0.4
1.0 ' '

0.6 0.8 1.

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

4500 -
500 ECopt

ECC
ECI
ECO

4000

XX

3500

3000

"\»
T et 2500 vanssts \
2000 w‘v

1500

6.6

PHopt
PHC
PHI
PHO

XX

31.5 A

31.0

30. 5

30.0-}-lP-IP-lP-4.h-*lP-*.-*.-4l-4lP-*lP-*.-4l-4l-4'P-*‘-*.-4l-4lh-#.P-*‘-*.-4l-4lP-*.P-*‘-4*-4l-4lP-*.-*‘-4l-4l-4lP-*.-*‘-4l-4lP-*.P-*.-4'-4l-4lh-*ih-*.-4

29.5

29.0
Warning: col [ WCperMraw’ , 'WCperMavg'] is missing

28.5 -

—@— WCperM

0050 9—0—0—0—0—0—0—0—0—0—0—0—0000000000 0000000000000 00000000001

0. 45 -

0. 40

0. 35 A

0.30-i-—‘P-‘P-lP-4.P-ﬂ‘h-ﬂ.—-4l-4.-4lP-*‘P-*.-4.-4.-4lP-*‘-*.-4.-4.P-*.P-*‘-*.-4.-4lP-*.h-ﬂ.-4+-4.-4lP-*.-*.-4.-4.-4lh-ﬂ.-ﬂ.-4.-4.h-ﬂ.h-#.-4.-4.-4.h-ﬂ.h-ﬂl-4

0.25 A

0.20 —o—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0O—0—0—0—0—0—0—0000—0—000—0000—

—o—
+
—0—

minDeltaM
avgDeltaM
stdDeltaM

28 A

26 A

24

22 -

20 —0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—000—0—0—0—0—0—0—0—0—0—00—0—0—0—0—0—0—0—

30 —D—Q+H—Q—0+H—Q—0—O—H—Q+H—Q—Q+H—Q—Q—O—H—Q—Q—O—H—Q—Q—H—Q+O—&I —0—  begM
1
1
1
I
1
1
1
1
1

adjFVOR

-0. 02 ~

—0. 04 ~

Warning: col ["adjFVIRraw' , "adjFVIR',| adjFVORraw ] is missing

1.1 ”"‘0000..

0.5 A
o ®
° [

FRC
FRraw

°
°
— FR

col [ FRA']
@

is—missin

0.4 - @ The:

?

59.5

59.0

58.5 -

58. 0 -

97.5 1

57.0 A

56. 5

56. 0

—@— beg wc

0 5 10 15 20 25

30 35 40 45

postFgEtraw

160 postFgEtavg

postFgEt

tte

140 -

120

100

80 ~

60 -

40




FgDaily

I
(=)
[S)

2.0 -

4.0

6.0

8.0

10.0

12.0

14.0

16.0

18.0

20.0

22.0

24.0






1.00

0.75

0.50

ESo ETclis ETcPT ETcP ETcldef ETcl
IIIIIIIIIIIIIIIIIIIIIIII I

ETol

-0.25

ETbai

-0.00

pR

_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII --0.25
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII -0.50
VPD

ETcI ETcIdef ETcP ETcPT ETC|IS ESo ETol ETbal pR PPFD RH

pVPD

VN

-0.75

PPFD

T

RH



° ° ° °
500 + :
Y °
% %
400 +
° °
- [ ) ) ([
£ 300 4 % % ° O ¢ ¢ °
o © °
® o [ ] e_© ()
° ® ®
200 ° oo o ° ° se 3
° °
° ° ° °
100 - oo o °e o oo o
°
1600 'a ) o ® ° Y o
ol ([ ] { ( ®
1400 - oS00 oo,
oo ©° ° ° ° 1 ® °
1200 - : ° J ¢ °°. .3
= 1000 ] ° L
LX) ° ° ® °
° ° H
800
° ° °
600 () ()
400 ~ ) [
22 A °
° °
20 ° ° (] .: [ ®e PY .. o (]
. %o ¢ &
° °
®e o o ° ° 9 o
18 o’ ° °.
00 %
T ° ° °o® °
16
°
° ° °
° °
14 1
°
12 ®
T T T T T T T T T T T T
75 - °
70 ()
°
° °
65
= ° () ()
°
60 - e % o ©0° ° ° o® o @
oy ® ® ° .. [ ° o o0
°
55 5o . o % % P %
° % ® e °
T T T T T T T T T T T T
500 - ° ° °
° °
400 + ) ) ° @
° ) ® ® ® Y ° o0 () () ®
300
= o ®® o o, % %
° L 1) S o ° %% , o 0 @ S
200 ) () )
° ° ° ° ® °
100 - ° °
¢ o |° ° ° ¢ °
° °
0 T T T T T T T T T T T T T T T T
7 .o: ¢ © ¢ ¢ o :o ° ® ° % .o
e 0° 0’5. oo “..).,.O o0 o ® :l)g'. oo 00 ° : e® ® o® o
300 - ° oo s ® % o, °
° ° °
_ ° ° ° ° °
200 A ()
100 -
° ° °
T T T T T T T T T T T T T T j I
300 400 500 500 1000 1500 12.5 15.0 17.5 20.0 60 70 200 400 100 200 300 400
ETcl ETol T RH VN



1750

1500

1250

1000

750

500

250

® obs
Fit

100 150

baiB

1.0

0.0199

0.8 -

0.6

0.4 -

0.2 -

0.0 T

0.0 0.2

0.4

0.6

0.8 1.

obs

500 A

400 ~

300 ~

200 -

100 ~

Q

Fit vs obs: a=0.77, b=73. 42

r=0. 69

1.0

100

200 300

Fit

400

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4 0.6 0.8

1.

0



hour

6:25

7:25

9:35

11:10

12:35

14:00

15:40

100

80

- 60

- 40

20



P3

BfiE) | FEBIETK (FD) | EE (EH/AR) | XK ERF

06:25 238 100.0 5| FHAe06:25 KENFERF (RFI1EREE)
07:25 238 100.0 5| FiHfe07:25 REERF (REERSR)
09:35 238 100.0 5| FiHe09:35 REFERF (KEAERSR)
11:10 238 100.0 5| THe11:10 RHESF (KREAERSE)
12:35 238 100.0 5| FiHe12:35 REIEF (REAERSE)
14:00 238 100.0 | FiHe14:00 RHEF (KEAERSR)
15:40 238 100.0 | FHAe15:40 KEEF (KRAMEESE)
21t 1666.0 (7% 700. 0 3 HKEC: 2080.0, PH: 6.5

FE XK it [l RECEI R R 5% .

HEERECE (2482. 0 vs 4450.0) 35

REREBHHEREC/PHERK, AT

RERMMIRELR R




FRV (ml plant-1)

ET (ml/hr/plant)

0.0

200

150 A

100

50

1.0

0.8

0.6

0.4

0.2

0.0
800

600

400

200

25

20

15

10

60

40

P3_0, Day=26 (2025-05-01)

V1, VE3ERV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

1384

632

00 00

- 1000

- 750

- 500

FRV (ml d-1)

- 250

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.5

I
ByWoFv @D26 q3:16: ET=632 Fg=700.0 Ro=21.0
]

7
- 1000
- 750

- 500

cumET (ml/plant)

- 250

10

11

13

14 15 16

17

18

1

9

20

21

22

23

i B

E3
B

E3
B

£33
B

E3 HE =
B B

£33
B

E3
]

3

B

=
B

£33
B

E3
B

E3
B

{

| A\ varhine: for [y

s, 'PPFD _obs'] is missing

"To_obs'] is missing

—— RH Warning: col ['RH obs’, 'RHo obs’'] is miss]|

0.0 0.2 0.4

0.6

0.8

1.

0



hour

100

6:45
80

8:55
60
10:45 40
20

12:15
! ! I I 0

% <$’ % &




P3

BYE) | GEBERTIC (D) | EBE (EA/#K) [ XS R

06:45 238 100.0 (& =| 1BRiB@06:45 Bz (REAEREE)
08:55 238 100.0 (Z=| {Ri%@08:55 Bz (FEAEHSE)
10:45 238 100.0 PR 1Ri%@10:45 B (REAERSE)
12:15 238 100.0 FA| 1BRig@12:15 B3h (RAERESE)
23] 952.0 (4%) 400. 0 323 KEC: 2080.0, PH: 6.5

WREHERIRA (1.02) , FEE

TeREHLER 2 STRHRERT (2385.0 :

BRIASEFRIERE100. 0 ml.
#[EKECE (2740.0 vs 4300.0) RS

100.0), AJEEKRFTZFERE




P3_0, Day=25 (2025-04-30)

10 e —r e ———Ff——f ——f————f =
VI, VB3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
75 4 936 - 1000
50 -
469 53 384 0649 - 500
25 -
7 Warning: lcol [FVI',| "FVO’'] missing 0
300 7 - 80
_ ( FRV — ME P
I maxM
(_c“ 200 A L o5
a (NN
— =
B 00 ]
> - 20
E e e e
1.0
4
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800
TargetEC=2600. 0, | TargetSe{§C=2080. 0 e EOBx10% f
2200 - L L ® ECC
L e B ———" S ————— % X 3¢ 'V g g g g g g g s
2000
1900 -
7.0 4 TargetPH=6.5, TargetSetPH=6.5 —>%—  PHBx10% [
® PHC
o
6.5 Pm————— e e e —u 3¢ e
6.0 -
] ;1000
= Bylnit @D26 q3 :16: ET=290 Fg=300.0 Ro=0.0
& 200 - | - 750
\Q- 1
£ | L 500
E 100 - : —&—eo—o—©
= i & o o o & o 50
Ll
— & — & T ——O— L
0 P P a~: P N — _____—_ﬂdﬂdp_h_lt_~——~# C——= 9
0 1 2 3 ] 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 ] 14 ] 15 ] 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 F 1000
i~ EXNEF S ETSE SN 5 B {5 FH [A A FA FA [A A FA FA [A 5 5 5 5 i 5
= i 1 |
S 2001 ByFt @D25 18:59: ET=573 Fg=400.0 Ro=nan ! 70
o —o——0—9©
< 1 - 500
E 100 - —t—e—0 ®
_ I L 250
O P——a e o o 9
0 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 ] 13 ] 14 ] 15 ] 16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 F 1000
) EXNER S E R E R E A EEA EEA EEA EEA N A FA FA [A A FA FA [A GERERREREREZAEES
= i 1 |
= 2097 ByloFv @26 03:16: ET=449 Fg=400.0 Ro=15.0 70
N I —o—o——9©
< ] - 500
= 100 4 : @ © @ © ©
— I L 250
1015 1 2 3 4 5 6 7 8 9 [0 ] 1T li12[ 314116 17]8li0]22]22]°
03_§£'§£'§£ EXNEF S ETNE A ER S EZT R A FA FA [A A FA FA [A GERERREREREZAEES
0.6 -
0.4 -
0.2 -
0.0
1500 { —_— a4
o | _obs
—@— PPFD_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



19.

18.

18.

18.

18.

18.

19.

18.

18.

18.

18.

20.

20.

20.

20.

20.

——

M_E

T
400

T
500

T
600

T
700

m=715,m FV0=0

——

M_E

715

T
720

T
725

m=620,m FV0=0

——

M_W

620

625

630

m=365, FV0=0

18. 4 ~

18. 3 A

18. 2 4

18. 1 4

18.0 4

17.9 A

——

M_E

365

T
370

375

20. 50 A

20. 25 A

20. 00 A

19.75 ~

19. 50 ~

19. 25 -

——

M_W

T
400

T
500

T
700

m=715,m FV0=0

20. 6

20.5 ~

20. 4 A

20. 3 A

20. 2 A

20. 1 -

——

M_W

715

720

725

19.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

m=425, FV0=0

——

M_E

T
425

T
430

T
435

m=365,m FV0=0

——

M_W

365

T
370

375

18.

18.

18.

18.

18.

20.

20.

20.

20.

19.

19.

m=620, FV0=0

——

M_E

T
620

T
625

T
630

m=425,m FV0=0

——

M_W

T
425

T
430

435




hour

6:45

7:45

9:20

10:40

12:25

14:10

15:45

100

80

- 60

- 40

20



P3

Bfie) | JEBEETIC (7)) | EME (BAH/HK) | XK ERF

06:45 238 100.0 [Z=| {Ri%e06:45 Bz (KRR
07:45 238 100.0 FA| 1BRi%@07:45 B3zh (RAIEREEE)
09:20 238 100.0 s BRi8009:20 B (FRFAEREE)
10:40 238 100.0 | 1Ri%e10:40 B (REERER)
12:25 238 100.0 F BRige12:25 Bz (GRAERESE)
14:10 238 100.0 El BRi&e14:10 Bz GREAEREE)
15:45 238 100.0 S| {Rige15:45 B3 (RAERSE)
2it|1666.0 (70%) 700.0 EUHKEC: 2250.0, PH: 6.5

KTHRRRA (1.02) , ERE
MERRHER 2 STERF (238.0 :

BRIASEFRIERE100. 0 ml.

# 5] /RECE (2859. 0 vs 3794.0) RS

100.0), AJEEKRFTZFERE




P3_0, Day=24 (2025-04-29)

L e e e e e
VI, V0, FRV, ET - VI, V0, FVI, EVO, FRV, adjFRV, ET
75 966 - 1000
50 630
401 21 469 768 1 500
25
) Warning: lcol [FVI',| "FVO’'] missing 7
308 3 9
o FRV — wmg P90
I maxM
< 200 +
(_:_ B 25 [TH]
— =
£
= 100 4 e e e
> Jo— P
& —| and — e - 20
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2958 —,
TargetEC=2600. 0, TargetSetEC=2250.0 @ —>—  ECB*10%
2500 - ® ECC
2250 - e et Eett et et
[
2000 - ®
1750 - °
7.04 TargetPH=6.5, TargetSetPH=6.5 —%—  PHBx10% {4
o PHC
)
[ ) [
i . I v > > N
[
6.0
: 4
2 200 Bylnit @D26 03:16: ET=625 Fg=700.0 Ro=3.0 L 1000
c 7] 1
()]
K 1
< ! e e e [7190
: |
< - 500
— 100 i
E 1
5 e —o—olo o I\I | 250
1
0 P——an oal o o E—— = 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
3 200 5 | i | g | Bg | g | G| G| BE | G | P i 5 5 5 | FA 5 5 5 i 5 5 5 i & | 1000
c 1
%_ ByEt @D24 18:44: ET=576 Fg=476.0 Ro=nan | L 750
:E 1
< an : - 500
55100 f\\\\///// ’P—.‘ @ © & :.‘ @ © & ©
— ! - 250
1
L —o—0—0—0——0— | |
0_l——. V- — P=N VS ——— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
3 200 B | g | i | BB | BB | BB |B=| B |25 B i 5 5 5 i 5 5 5 i 5 5 5 i & | 1000
c 1
%_ ByWoFv @D26 q3:16: ET=630 |[Fg=700. 0 Ro=22.0 L 750
E ]
S ! L 500
— 100 ~ i
E 1
— ! - 250
w b — & —& \ ——
1.0 p—map P — | - 0
0 1 2 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl M5 | B | B | #F | B [ || H [ZZ]| B i 5 5 5 i 5 5 5 i 5 5 5 i 5
0.6 -
0.4 1
0.2 A
1g08- —_ 4
o | _obs
1000 + —@— PPFD_obs
500 A
60
40 A —_ RH ‘b
[ J RH_obs [}
20 1 (] RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



20. 50 A

20. 25 A

20. 00 A

19. 75

19. 50

19. 25

20.

20.

20.

20.

19.

19.

21,

20.

20.

20.

20.

20.

20.

400

T T
600 800

m=660,m FV0=0

T o

M_E

T
660

665 6%0
m=430,n FV0=0

1T —e— mw

430

435 440

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

21,

21.

21,

20.

20.

m=365, FV0=0

—e— ME

3%0 3%5
m=865,n FV0=0

3_

T T T T T T
865.0 867.5 870.0 872.5 875.0 877.5

m=510,m FV0=0
27 —o— MW
1 .
0 .
9 .
8 .
510 515 520

m=430, FV0=0

20. 2

20.1 -

20. 0 -

19.9 ~

19. 8

19.7

—0—

M_E

T
430

T
435 440

21. 25 A

21.00 A

20. 75 A

20. 50 A

20. 25 A

20. 00 ~

—— MW

400

T T
600 800

m=660,m FV0=0

21.0

20. 9 -

20. 8

20. 7

20. 6 -

—0—

M_W

660

665 670

20.

20.

20.

20.

20.

20.

20.

20.

20.

20.

20.

20.

19.

20.

20.

20.

20.

20.

m=510, FV0=0

40 A

35 A

30 -

25 A

20 -

15 +

10

- ME

5%5 5é0
m=365,n FV0=0

T
510

1T —e— mw

T T
365 370 375

m=865,m FV0=0

2 4

—— MW

865.0 867.5 870.0 872.5 875.0 877.5

m




hour

6:45

7:50

9:35

10:55

12:00

13:30

14:55

100

80

- 60

- 40

20



P3

BfiE) | FEBIETK (FD) | EE (EH/AR) | XK ERF

06:45 160 100.0 | 1Ri%e06:45 F (RFEEREE)
07:50 160 100.0 = {RRi8007:50 Fzh (REAEEE)
09:35 160 100.0 =l {Ri%@09:35 F3 (REAERSE)
10:55 160 100.0 = RRi8@10:55 Fz (RFEAEREE)
12:00 160 100.0 Fl BRige12:00 Fz1 (GRAERESE)
13:30 160 100.0 El 1BRi&@13:30 Fzh CGRAEREE)
14:55 160 100.0 =l 1Rige14:55 Fz1 (RAERSE)
2i3t|1120.0 (7% 700.0 EHKEC: 2375.0, PH: 6.5

HKTHRERA (1.06) , RS
MERRHLER 2 STMESRRT (162.0 :

67.0), AIREKRBERAE

EOREBIRTC R IRAE R 2 (160 vs 238.0))

2RI\ LBRERE67.0 ml.

large discrepency for begining water status (140:288.0), set to 140 ml
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